Question Booklet NO. 204302

ENTRANCE EXAMINATION-2017

A (Hons) ECONOMICS/B.B.A/B.Com
SET B

ROLL NO.

Signature of Invigilator

Time:1 HOUR 45 MINUTES Total Marks: 100

Instructions to Candidates

1. Do not write your name or put any other mark of identification anywhere in the OMR Answer Sheet. IF ANY MARK OF
IDENTIFICATIONS IS DISCOVERED ANYWHERE IN OMR ANSWER SHEET, the OMR sheet will be cancelled, and will not be
evaluated.

2. This Question Booklet contains this cover page and a total of 100 Multiple Choice Questions of 1mark. Space for rough
work has been provided at the beginning and end. Available space on each page may also be used for rough work.

" 3. Each correct answer carries one mark.

4. There is negative marking for Multiple Choice Questions. For each wrong answer, 0.25 marks will be deducted.

5. USE OF CALCULATOR IS NOT PERMITTED.

6. USE/POSSESSION OF ELECTRONIC GADGETS LIKE MOBILE PHONE, iPhone, iIPad, pager ETC. is not permitted.

7. Candidate should check the serial order of questions at the beginning of the test. If any question is found missing in the |
serial order, it should be immediately brought to the notice of the Invigilator. No pages should be torn out from this
question booklet. |

8. Answers must be marked in the OMR answer sheet which is provided separately. OMR answer sheet must be handed over ‘.

to the invigilator before you leave the seat.
il ﬁ- The OMR answer sheet should not be folded or wrinkled. The folded or wrinkled OMR/A
10. Write your Roll Number in the appropriate space (above) and on the OMR Answer
should be written only in the space provided.

o 3 R ere are four alternative answers to each question marked A, B, C and D. Select on
R i at and fill up the corresponding oval/circle in the OMR Answer Sheet provid

the OM# Answer Sheet is mentioned beiow.

m Blue Ball Pen only for filling the ovals/circles in OMR Answer Sheet
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_then A: B: Cis: |
w B) 2:3:4 £ 20:15:4 d})"{:4:3

is equal to two-third of another number, what is the ratio of first number to the

K B) 3:7 C)5:3 D) 7:3
 San Bina, but shorter than Aditi. Anu is shorter than Bina but taller than Manju. Ekta 1s
W among them is the tallest? b '
- B)Aditior Ekta C) Ekta or Reena D) Adit %, -T\B

- .- 8 . A 1 to dm:ne graphically the value of: |

16 is: 3 o 2
b g Y C) & i g }I/

. b Am of Rs. 800 amounts to Rs. 920 in 3 years at simple interest. If the interest rate is increased by 3%, ,lf"f)
L3 % -T - it would amount to how much?
~ A)Rs.700 B) Rs. 500 C) Rs. 200 D) Rs. 992
- '*‘f'r..--’lj'-f"':'-.*.,:' | A
© 79.1£1.125 x 10" = 0.001125, then the value of k is: |o
A6 A1 B) -2 C)-3 D) -4
- The sum of tl'nwmms of three numbers is 138, while the sum of their products taken two at a time 1s
b 131 Their sum is:
A4 B) 48 C) 60 D) 72
i f' ‘“‘ha m code ‘GIVE is written as ‘VIEG® and ‘OVER’ is written as ‘EVRO’. How will "DISK" be
C) KDSI D) KISD K
of Q. T is the brother of P. How is Q related to T? 5 ib
C) Mother D) Data inadequate

C) Three D) Four i
. { qﬂ
C) 2/3 D) 3/4
85, If the v m+ﬂ‘“KWumavmp of a+b? :
.f ml?ﬂ o R D) 100

mm mdMH.C.F is 12, Thenmheu ire
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